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#include <stdio.h>
#define FRAMEBOUND 100

int n;

double b[FRAMEBOUND] ;
double pm[FRAMEBOUND] ;
double a[FRAMEBOUND] ;
double x[FRAMEBOUND] ;

void
cec_proc(void)

double c[FRAMEBOUND] ;
double b_cum;
double x_min;

int x_min_idx;

int e [FRAMEBOUND] ;
double bndil;
double bnd2;
double bnd3;

int bndi_idx;

int bnd2_idx;

int bnd3_idx;
double x_cum;

int e_cum;

int i;

for (b_cum = 0, i = 0; i < n; i++){
b_cum += b[i];
c[i] = b_cum + pm[i];
x[i] = blil;

¥

x_min_idx = 0O;
x_min = x[0];
for (i = 0; i < m; i++){
if (x[i] < x_min){
x_min_idx = i;
x_min = x[i];

¥
¥
for (i = 0; i < n; i++){
e[i] = (x[i] == x_min)? 1: 0;
¥
LOOP1:
for (i = 0; e[i] == 0; i++){
N H

bndl_idx = i;
bndl = al[i] - x[i];
for (i++; i < n; i++){
if (e[i] == 1 && a[i]l - x[i] < bnd1){
bndl_idx = i;
bndl = al[i] - x[i];

¥
x_cum = 0;

for (i = 0; el[i] == 0; i++){
x_cum += x[i];
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x_cum += x[i];
e_cum = 1;
bnd2_idx = i;
bnd2 = (c[i] - x_cum) / e_cum;
for (i++; i < mn; i++){
double tmp;
x_cum += x[i];
e_cum += e[il;
tmp = (c[i] - x_cum) / e_cum;
if (tmp < bnd2){
bnd2_idx = i;
bnd2 = tmp;

}

for (i = 0; e[i] == 1 && i < n; i++){

}
if (el[i] == 0){
bnd3_idx = i;
bnd3 = x[i];
for (i++; i < nj; i++){
if (el[i] == 0 && x[i] < bnd3){
bnd3_idx = i;
bnd3 = x[i];
}
}
bnd3 -= x_min;
if (bnd3 > O &% bnd3 < bndl && bnd3 < bnd2){
for (i = 0; i < n; i++){
if (el[i] == 1){
x[i] += bnd3;

}

x_min += bnd3;

e[bnd3_idx] = 1;
} else {

goto BOUND10R2;

} else {
BOUND10R2:
if (bndl < bnd2){
for (i = 0; i < n; i+H){
if (el[i] == 1){
x[i] += bndi;

}
x_min += bndl;
e[bnd1_idx] = 0;
} else {
for (i = 0; i < n; i+H){
if (el[i] == 1){
x[i] += bnd2;

x_min += bnd2;
for (i = 0; i <= bnd2_idx; i++){
e[i] = 0;
¥
for (i = 0; i < mn; i++){
if (e[i] == 1){
goto LOOP1;
}
return;
int
main()

int i;
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printf("n=");
scanf ("/d", &n);

if (n <= 0 || n > FRAMEBOUND){

}

for

for

for

}

cec_

for

}

goto ERROR;

(i =0; i< mn; i++){
printf ("b[%d]=",1);
scanf ("%1f", b + i);

(i =0; i <mnj; i++){
printf ("pm[%d]l=",1);
scanf ("%1f", pm + i);

(i =0; i <mn; i+H{
printf ("al[%dl=",1i);
scanf ("41f", a + i);

proc();

(1 =0; i < n; i++){
printf ("x[%d]=",1)
printf(" %f\n", x[il);

printf("\n");
return(0) ;

ERROR:

return(-1);
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